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I. Multiple Choice Question.  4 x 1 = 4

If the HCF of 65 and 117 is expressible in the form of 65m - 117 , then the value of m is

(a) 4 (b) 2 (c) 1 (d) 3

The sum of the exponents of the prime factors in the prime factorization of 1729 is

(a) 1 (b) 2 (c) 3 (d) 4

The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is

(a) 2025 (b) 5220 (c) 5025 (d) 2520

Given F  = 1, F  = 3 and F  = F + F  then F  is

(a) 3 (b) 5 (c) 8 (d) 11

1 2 n n-1  n-2 5

II. Answer any 5 Question. 7 x 2 = 14

If 13824 = 2  x 3  then find a and b.a b

Find the first five terms of the following sequence,

a  = 1, a = 1, 1 2  = ; n ≥ 3, n ∈ Nan

an−1

+3an−2

Find the 19  term of an A.P. -11, -15, -19,....th

Find the sum of the following series

1 + 4 + 9 + 16 +..+ 225

Find the sum of first 15 terms of the A.P.  ,....8, 7 , 6 , 51
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Find the first four terms of the sequences whose nth terms are given by

a  = 2n  - 6n
2

Find the first three terms of  =an

2n−3

6

III. Answer all Question.  3 x 5 = 15

If l , m and n  terms of an A.P are x, y, z respectively, then show that  x(m - n) + y(n - l) + z(l - m) = 0th th  th

The 104  term and 4  term of an A.P. are 125 and 0. Find the sum of first 35 terms. th th

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

www.Padasalai.Net                                                 www.TrbTnpsc.com

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

